ITEM| PARTH# |QTY. DESCRIPTION
y 1 2807-70 1 |Bottom Mount Plate
1; 2 HDW2073 2 |5/16x 1-1/2x 3-1/2 Rd. U-Bolt
3 HDW9002 | 8 |[5/16 Flat Washers
UTILITY DIVISION 4 HDW9062 | 2 |[5/16x2x 3-1/2Sq. U-Bolt
5 HDW?7058 | 8 |[5/16 Nylock Nut
PLOW BOTTOM MOUNT 6 2763-2 2 |Spacer Block

14 — 16 CF Moto U-Force 800
2016 CF Moto U-Force 500
PART# 4501-0649

BOTTOM MOUNT INSTALLATION INSTRUCTIONS

1.

Remove the center skid plate. The wider side of the bottom mount is the FRONT. The wider front 2”x3-1/2" u-
bolts (#4) for the front of the bottom mount will install over the main frame tubes before they start to flare
outward. This will be just behind the front sway bar mounts. See illustrations on back page.

Place the rear 1-1/2"x 3-1/2" u-bolts (#2) over the horizontal frame rail about 17 inches behind the front u-bolts.
Place them in about 12 inches apart from each other.

Place the front of the bottom mount over the front u-bolts and loosely secure with the 5/16” flat washers and
nylock nuts. Let the back of the mount hang down. Install a spacer block (#6) between the bottom mount and
rear u-bolt on each side. Push the back of the mount up into place making sure the u-bolts install through the
spacers and then through the mount. Loosely secure with the 5/16” flat washers and nylock nuts. Make sure the
mount is aligned properly and tighten all the hardware.

NOTE: If you would like to continue using your skidplate, simply mark the location of each u-bolt and drill out a hole for each
one. You can then re-install the skidplate with the u-bolts sticking down through it, put the bottom mount in place and
install the washers/nuts.

Using a cut off wheel or reciprocating saw, you can cut off any excess threads hanging down from the u-bolts.

Slide the blade/push tube assembly under the ATV. Lift he rear of the assembly up and align the holes in the bottom mount
tabs and push tube and install the wire loop pins.

3
(2)

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616 (7:00 to 4:30 CST Monday through Thursday).

INST2807PF-1



MOOSE,

LTITLITY DIVISION

PAGE 2

BOTTOM MOUNT INSTALLATION INSTRUCTIONS

Front of UTV Front of UTV
Rear U-Bolt position over the center cross Front U-Bolt position over the main frame
member. Place about 12" apart. tubes in line with the back of the front

tires

Front of UTV

Front of UTV Completed installation.

Flace the spacers between the frame rail and
bottom mount at the rear u-bolts.

FOR QUESTIONS OR COMMENTS PLEASE CALL: 320-964-1616 (7:00 to 4:30 CST Monday through Thursday).

INST2807PF-2



